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Build a 6-digit humber from the parts
Write the 6-digit humbers

= 900,000 + 20,000 + 6,000 + 800 + 60

= 400,000 + 80,000 + 8,000 + 5

= 200,000 + 20,000 + 6,000 + 300 + 10

=900,000 + 50,000 + 7,000+ 700+ 50 + 6

= 700,000 + 80,000 + 1,000 + 600 +30+ 7

= 900,000 + 60,000 + 5,000 +400+40+6

= 800,000 + 70,000 + 1,000 + 800 + 30 + 4

=100,000 + 50,000 + 5,000 + 400 + 50 + 6

= 300,000 + 80,000 + 4,000 + 800+ 50+ 3

=900,000 + 10,000 + 6,000 + 600 + 70 + 2
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Build a 6-digit humber from the parts

Answer Key

926,860 =900,000 + 20,000 + 6,000 + 800 + 60

488,005 = 400,000 + 80,000 + 8,000 + 5

226,310 = 200,000 + 20,000 + 6,000 + 300 + 10

957,756 =900,000 + 50,000 + 7,000 + 700 + 50 + 6

781,637 = 700,000 + 80,000 + 1,000 + 600+ 30+ 7

965,446 = 900,000 + 60,000 + 5,000 + 400 +40 + 6

871,834 = 800,000 + 70,000 + 1,000 + 800 + 30 + 4

155,456 = 100,000 + 50,000 + 5,000 + 400 + 50 + 6

384,853 = 300,000 + 80,000 + 4,000 + 800 + 50 + 3

916,672 =900,000 + 10,000 + 6,000 + 600 + 70 + 2
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Build a 6-digit humber from the parts
Write the 6-digit humbers

= 800,000 + 60,000 + 7,000 + 700 + 30 + 2

= 800,000 + 20,000 + 8,000 + 400+ 30+ 3

= 500,000 + 50,000 + 9,000 + 70 + 6

=100,000 + 70,000 + 8,000 + 10 + 1

= 900,000 + 30,000 + 9,000 + 80 + 1

= 400,000 + 40,000 + 1,000 + 800+ 80+ 4

= 600,000 + 40,000 + 6,000 + 50 + 6

= 900,000 + 20,000 + 5,000 + 90 + 2

= 200,000 + 90,000 + 2,000 + 200 + 8

= 700,000 + 10,000 + 4,000 + 200 + 80 + 6
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Build a 6-digit humber from the parts

Answer Key

867,732 =800,000 + 60,000 + 7,000 + 700 + 30 + 2

828,433 = 800,000 + 20,000 + 8,000 + 400 + 30 + 3

559,076 = 500,000 + 50,000 + 9,000+ 70 + 6

178,011 =100,000 + 70,000 + 8,000 + 10 + 1

939,081 =900,000 + 30,000 + 9,000 + 80 + 1

441,884 = 400,000 + 40,000 + 1,000 + 800 + 80 + 4

646,056 = 600,000 + 40,000 + 6,000 + 50 + 6

925,092 =900,000 + 20,000 + 5,000 + 90 + 2

292,208 = 200,000 + 90,000 + 2,000 + 200 + 8

714,286 = 700,000 + 10,000 + 4,000 + 200 + 80 + 6
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